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QUESTION 1

Refer to the exhibit. 

You are configuring a UCS C-Series server for SAN boot over FCoE. The server fails to boot after the HBA option ROM
loads. Which option describes the most likely solution for this problem? 

A. Decrease the vNIC MTU. 

B. Set the vNIC Class of Service to a nonzero value. 

C. Set the default VLAN to FCOE VLAN. 

D. Set the vHBA Class of Service to 2. 

E. Uncheck the PXE Boot option. 

F. Disable Persistent LUN Binding. 

Correct Answer: C 

 

QUESTION 2

In a Cisco Nexus 7000 switch with both M1 and F1 modules, which two topologies are valid vPC topologies? (Choose
two) A. Exhibit A 
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A. B. C. 

D. 

B. Exhibit B 

C. Exhibit C 

D. Exhibit D 

Correct Answer: AC 

 

QUESTION 3

Refer to the exhibit. 

Assume that the Cisco UCS 6200 Series Fabric Interconnects are equipped with 16 port expansion modules. What is
the impact of the last command in the exhibit? 

A. Fabric interconnect B will reboot. 
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B. The expansion module on fabric interconnect B will reload. 

C. The command will generate an error. 

D. Both fabric A and B expansion modules will reload. 

E. The expansion module on fabric interconnect B will reload according to the maintenance policy that is set by Cisco
UCS Manager. 

Correct Answer: C 

 

QUESTION 4

In the Cisco Nexus 7000 FabricPath domain, one switch becomes the root for the multidestination tree. Cisco
FabricPath IS-IS will automatically select root switches for each multidestination tree. One of the parameters that is
used to select the root is the system ID. Which two statements are true about the system ID? (Choose two.) 

A. The system ID is a unique 12-bit value. 

B. The system ID is a 48-bit value composed of the VDC MAC address. 

C. A higher system ID is preferred. 

D. A lower system ID is preferred. 

Correct Answer: BC 

 

QUESTION 5

A network administrator has installed an N7K-F248-25XP module into an existing chassis. The module is powered on,
but the interfaces are all in VDC0. What is the reason for this? 

A. The chassis needs an EPLD upgrade to support the new module type. 

B. The default VDC cannot support F2 modules. 

C. The interfaces must be allocated into a VDC for F2 modules only. 

D. The module has failed GOLD diagnostics, and the switch has isolated the ports to protect the integrity of the system. 

Correct Answer: C 

 

QUESTION 6

After configuring FabricPath, the following message appears in the syslog: 

%STP-2-L2GW_BACKBONE_BLOCK: L2 Gateway Backbone port inconsistency blocking port port-channel100 on
VLAN0010. 

What is a possible reason for this message? 
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A. Spanning tree must be disabled, and the message indicates that STP is enabled. 

B. STP is misconfigured. The root guard must be disabled. 

C. An inferior BPDU was received on a Cisco FabricPath edge port. 

D. A superior BPDU was received on a Cisco FabricPath edge port. 

Correct Answer: D 

 

QUESTION 7

What tasks can only be performed in the default or admin VDC? 

A. EPLD upgrade, IOS ISSU, FcoE feature enablement, CoPP configuration, and rolling back a checkpoint 

B. EPLD upgrade, Cisco IOS ISSU, FCoE feature enablement, CoPP configuration, and ACL capture enablement 

C. EPLD upgrade, Cisco IOS ISSU, FCoE feature enablement, CoPP configuration and SNMP configuration 

D. EPLD upgrade, Cisco IOS ISSU, FCoE feature enablement, CoPP configuration, and write erase 

Correct Answer: B 

 

QUESTION 8

Select and Place: 

Correct Answer: 
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QUESTION 9

Refer to the exhibit. 

Which option describes the output that is shown in bold in the exhibit? 

A. This output represents a standby VIF. 

B. This output indicates that fabric failover has been enabled on vNIC 3. 

C. This output represents a reserved system VIF. 

D. This output represents an unpinned interface. 

Correct Answer: A 

 

QUESTION 10

What is the benefit of using Anycast RP via RFC 4610 for IP multicast RP redundancy? 

A. Improves convergence of the multicast network due to enhanced RPF checks 

B. Simplifies the number of control plane protocols over other RP redundancy methods 

C. Eliminates the use of Protocol Independent Multicast (PIM) in the topology 

D. Increases the administrative distances in Multicast Source Discovery Protocol (MSDP) configuration 

Correct Answer: B 

 

QUESTION 11

Which statement best describes the Cisco Nexus 1000V Series? 
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A. The Cisco Nexus 1000V Series provides Layer 2 switching, advanced networking functions, and a common network
management model in a virtualized server environment. 

B. The Cisco Nexus 1000V Series provides Layer 3 switching, advanced networking functions, and a common network
management model in a virtualized server environment. 

C. The Cisco Nexus 1000V Series provides Layer 2 and Layer 3 switching, advanced networking functions, and a
common network management model in a virtualized server environment. 

D. The Cisco Nexus 1000V Series provides Layer 2 and Layer 3 switching but does not provide advanced networking
functions or a common network management model in a virtualized server environment. 

Correct Answer: A 

 

QUESTION 12

What is the use of NPV in Cisco Unified Computing Systems? (Choose two.) 

A. Compatibility with third-party Fibre Channel switches 

B. Faster throughput 

C. Reduce domain IDs in a Fibre Channel environment 

D. Support for increased number of VSANs 

E. Support for SAN port channels 

Correct Answer: AC 
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